GNP

WHITE

INTERNATIONAL

White International Ltd
www.whiteint.co.nz

CNP CDLF 2 and 4 SPARE PARTS

KEY

DESCRIPTION PART #

Coupling guard (No cutout)

la

Coupling guard

Screw M4 x 8mm

Pump head

3a

Lining

Diffuser 711773

4a

Support diffuser 711776

4b

Neck ring cover

4c

Neck ring

Coupling

5a

Inducer 711778

Flange type base plate 711779

\‘

Shaft pin

(o]

Nut M12, Washer ®12

Hexagon socket head screw

10

Circlip cover

20

Flange

21

Circlip

22

First impeller cover 711766

23

Nut M8, Washer ©®8

25

Stay bolt

26a

Flange type inlet & outlet chamber 711767

28

Drainage screw M10 750016

29

Drainage nut 711768

30

O ring 136.5 x ®3.3mm

31

O ring 8 x ®2.65mm 711769

33

Impeller sleeve(s)

34

Mechanical seal - Type 2 Hexagonal Cartridge | 800238

34

Mechanical seal - Type 3 Triangular Cartridge | 800239

36

Air vent nut

37

O ring 16 x ®2.65mm 711772

38

Air vent screw

39

Screw, washer

40

Motor

47

Impeller sleve

47a

Bearing 711774

49

Impeller 711775

50a

Top diffuser 711777

51

Shaft 800101

55

Cylinder

60

Corrugated spring

62

Seal sleeve

63

O ring retainer 711780

64

Screw M10 x 40mm




